Group data into

positive / controls
Rare events analysis does

not apply. Use default
Is lowest peak thresholding.
largest in 1d?

Define positive /
Is -/- peak largest in

negative peaks by
clustering.

Find “center” and size of
5 d? Yes negative peak.
: (median & variance of

each cluster in 1d and 2d)

P < 0.1 for (-) and (+) peaks. 1d outlier

LG ECEEEWC- I Each channel
(+), (-) or outlier P < 0.1 for only 1 peak. Non-outlier

for each channel.
P > 0.1 for both peaks. Ambiguous

Independent assortment

Unexpected?
Co-assortment

Count non-outlier Is +/+ distribution
events. consistent with: Neither

+/+ events are
inconsistent.
(Check RE digest.)




